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What is the value of the expression y - XZ + Y—, whenx =3, y =

oA -3
0B -z
¢
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The table below shows the number of visitors in a water Which two properties justify that

park over a period of two days. The cost of an admission both methods will give the same
ticket to the water park is $19.95 per person. answer?
Water Park Attendance O A multiplicative identity and
pay Attendance associative properties
- B additive identity and associative
Friday 180 oropertias
Saturday 360 0 € distributive and commutative

properties

Two methods can be used to find the total amount

collected from the admission tickets on Saturday. D associative and commutative

properties

Method 1: Double the attendance on Friday and
multiply that amount by the price of one ticket:

(2 x180) x $19.95.

Method 2: Multiply the attendance on Friday by the
price of one ticket and double the amount:

(180 % $19.95) x 2.
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fx = 22 andy - t - 1, what is the value of the expression &x+y? whent - 0.37
O A 0508
O B 0498
o c -0472

D -0.482
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m?:2n
-2

Evaluate +4mnform =2and n

-23
-19
19
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Simplify: 2s%(s® + 2t) - 5(25° + 3t - 3s%)

8

2% -10s° - 3s% +3t2 + 2t

-8s° - 3s% + 3t% + 2t

A

© B 2s%-10s° +19s% - 15t2
c
D

-85® +19s% — 15t%
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Which scenario best represents the equation y = 10x + 72

the total cost, y, of buying x books for $17 each

A

O B the total amount earned, y, dog-sitting for x hours at $10 per hour for 7 dogs
C the total cost, y, of ordering x tiles worth $10 each with a $7 shipping charge
D

the total amount, y, spent buying x DVDs for $7 each plus one set of headphones
for $10
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A painter needs 2.5 gallons of paint to cover 875 square feet of wall as modeled by the
function p(x) = 3X;, where x is the area to paint and p(x) is the amount of paint needed.
Which table shows this relationship between the area to paint and the amount of paint
needed?

Amount of Paint Needed Amount of Paint Needed
Amount of Amount of
Area, x " Area, x "
¢ Paint, p(x) ¢ Paint, p(x)
(square feet) | Py POS (square feet) | FEA IS
oA 385 11 oc 350 1.0
455 13 250 1.4
630 1.8 175 2.0
840 24 125 28
Amount of Paint Needed Amount of Paint Needed
Amount of Amount of
Area, x " Area, x "
¢ Paint, p(x) ¢ Paint, p(x)
(square feet) | Py POS (square feet) | FEA A
OB 406 1.4 oD 1,050 12
522 18 1,575 18
638 22 1,025 22
754 26 2,100 24
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Ryan starts with $400 in a bank account. Each week he deposits $100 into the account
from his paycheck. If he withdraws $120 from the account each week, which graph can
be used to determine his account balance?

Ryan’s Account Balance Ryan’s Account Balance
2 2
71,000 71,000
2 900 2 900
g w0 g oo
= 700 > 700
A g 600 = c g 600
O 2 s00 —— O 2 s00
% 400 (= 5 400
£ 300 £ 300
2 200 2 200
E 100 E 100
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The number of diagonals, d, that can be drawn in an n-sided convex polygon is
represented by d = "(-2). Which graph best models this relationship?

Diagonals in a Diagonals in a
Convex Polygon Convex Polygon
Z)

50

>

Number of Diagonals
o

Number of Diagonals

25 25
20 20
1s 1s
10 10
5 5
0 12345678910 0 12345678910
Number of Sides Number of Sides
Diagonals in a Diagonals in a
Convex Polygon Convex Polygon
a a
2k H 2k
£as £as
840 840
a3k g3
30 30
© B g3 D53
520 520
2is 2is
E1o E1o
25 25
0 12345678910 0 12345678910

Number of Sides Number of Sides
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A linear equation y = 2.5x + 60 represents the total cost, y, of producing x number of box
lunches. Which table shows the relationship between the total cost and the number of
box lunches?

Cost of Box Lunches Cost of Box Lunches
Number of Number of
Box Lunches, x | Total Cost,y Box Lunches, x | Total Costry
oA 50 $725.00 o c 50 $125.00
75 $787.50 75 $187.50
100 $850.00 100 $250.00
Cost of Box Lunches Cost of Box Lunches
Number of Number of
Box Lunches, x | Total Cost,y Box Lunches, x | Total Cost,y
o B 50 $185.00 D 50 $112.50
75 $247.50 75 $137.50
100 $310.00 100 $162.50





image17.png
Peter made a table of his charges for shoveling snow on 3 days.

Shoveling Charges

Amount of
Day Snowfall, a Charge, ¢
(inches)
Monday 3 $9.00
Tuesday 5 $14.00
Wednesday 7 $19.00

Which equation shows the relationship between the charge, ¢, and the amount of
snowfall, a?

o A c=3a
B c=25a

O € c=253+15
D c=15a+25
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What happens to the graph of y = ~4x? when the equation becomes y = 4x2?

The graph is shifted down.
The graph is shifted up.

The graph is reflected over the y axis.

o 0 w >

The graph is reflected over the x axis.
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Water boils at 100°C at sea level. If water boils at 80°C at 4 miles above sea level, what
is the rate of change of the boiling point of water with respect to the distance above sea
level?

-20°C per mile

A

o B -5°C per mile
C  5°C per mile
D

20°C per mile
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Robert buys 5 baseball cards every month. The equation y = 75 + 5x represents the
number of baseball cards that Robert has after x months. What does the slope represent
in this situation?

© A the number of months
© B the number of baseball cards after x months
o € the initial number of baseball cards in Robert’s collection

D the number of baseball cards Robert buys every month
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A local gym charges a fixed annual membership fee and What is the hourly rate charged for
an additional charge for each hour, h, spent with a the time spent with a personal
personal trainer. The graph shows the relationship trainer?

between the bill amount and the number of hours spent

with a personal trainer. $30 per hour

>0

70 per hour
7,000 $70P

6,300
5,600
4,900
4,200
3,500
2,800
2,100
1,400

700

A

Annual Bill O B $35 per hour
c
D

$105 per hour

Bill Amount (dollars)

> h
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The table shows the amount of time, in minutes, a printer takes to print pages.

Printing Time
Time Number of
(minutes) Pages
2 26
4 52
6 78
8 104
10 130

The printer continues to print at the same rate. How long does the printer take to print
exactly 247 pages?

17 minutes
19 minutes

20 minutes

o 0 w >

25 minutes
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Karen examines the sequence made by toothpick squares. She concludes that it follows
the rule f(n) = 8n - 4, where n represents the position of the figure in the sequence and
f(n) represents the total number of toothpicks in each figure.

[ Iy

Figure 1 Figure 2 Figure 3

What is the total number of toothpicks in Figure 4 and Figure 5 respectively?

28,36
28,32
32,40
36, 44

o 0w >
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Which table best describes the function f(x) = 5x - 2?

x £(x) x £(x)
1 7 1 3

oA 2 12 o c 2 8
3 17 3 13
4 22 4 18
x £(x) x £(x)
1 3 1 7

o B 2 1 o D 2 9
3 -1 3 11
4 -3 4 13
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A waiter makes $8 per hour plus 10% of the total amount his customers spend. Which
equation represents his weekly earnings, e, in dollars, if he works h hours per week and
his customers spend $9902

o A e=0.8h+990
o B e=0.8h+99
C e=8h+99
D e=8h+990
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Vanessa’s coffeemaker fills a 1-ounce cup in 30 seconds. Which equation can be used to
determine the time, t, in minutes the coffeemaker takes to fill an 11-ounce mug?
O A 11(0.5) =t

0B il-os

c 1130) =t
i1 _
D 1l-30




